London Handicap Scale (LHS)

Mobility Value Patient
1 No disadvantage 0,071 ]
2 Minimal disadvantage 0,038 O
3 Mild disadvantage 0 [l
4 Moderate disadvantage -0,036 L]
5 Severe disadvantage -0,072 Il
6 Most severe disadvantage -0,108 L]
Score

Physical independence

1 No disadvantage 0,102 O
2 Minimal disadvantage 0,011 ]
3 Mild disadvantage -0,021 ]
4 Moderate disadvantage -0,053 L]
5 Severe disadvantage -0,057 Ol
6 Most severe disadvantage -0,061 O
Score

Occupation

1 No disadvantage 0,099 O
2 Minimal disadvantage -0,004 Il
3 Mild disadvantage -0,014 Ol
4 Moderate disadvantage -0,024 [l
5 Severe disadvantage -0,035 Ol
6 Most severe disadvantage -0,061 ]
Score

Social integration Value Patient
1 No disadvantage 0,063 Ol
2 Minimal disadvantage 0,035 U
3 Mild disadvantage 0,007 Ol
4 Moderate disadvantage -0,022 [l
5 Severe disadvantage -0,029 [l
6 Most severe disadvantage -0,041 Ol

Score




Orientation
1 No disadvantage 0,109 ]
2 Minimal disadvantage -0,008 O
3 Mild disadvantage -0,038 ]
4 Moderate disadvantage -0,051 L]
5 Severe disadvantage -0,063 Ll
6 Most severe disadvantage -0,075 L]
Score
Economic self sufficiency
1 No disadvantage 0,1 L]
2 Minimal disadvantage 0,067 ]
3 Mild disadvantage 0,033 O
4 Moderate disadvantage -0,023 L]
5 Severe disadvantage -0,067 L]
6 Most severe disadvantage -0,111 L]
Score

London handicap scale = SUM (all 6 utility values) + 0.456

where:

- The sum of all "no disadvantage” values is 0.544 which when added to 0.456

gives 1.00.

- The sum of all "most severe disadvantage" values is —0.456 which when added
to 0.456 gives 0.00.

Interpretation:

- minimum scale value: 0

- maximum scale value: 1.00

- The scale value corresponds to residual function with 1.00 indicating normal
function and 0.00 indicating total disability.

Performance:

- Pearson's correlation coefficient between predicted and measured values:
0.98
- Kendall's coefficient of concordance (tau): 1.00

Patientlastname: . ... Date of birth: ..../..../
Patient first name: . ... ..ot Date: ..../..../



